
 

ա)�+ 4
5
� : �+ 1

8
� = + �4

5
· 8� = + 32

5
 

բ) �−8
9
� : �−2

3
� = + �4

3
· 1� = + 4

3
 

գ) �−5 6
7
� : �−9 5

14
� = �− 41

7
� : �− 126

14
� = �−41

7
� · �− 14

126
� = (−41) · �− 2

126
� = + 82

126
= + 41

63
 

դ) �+17 1
2
� : �+4 2

15
� = �+ 35

2
� : �+ 62

15
� = �+ 35

2
� · �+ 15

62
� = + 525

124
 

ե) �−1 9
17
� : �− 2

17
� = �− 26

17
� : �− 2

17
� = �− 26

17
� · �− 17

2
� = (−13) · (−1) = +13 

զ) �−12 3
5
� : �−3 1

2
� = �− 63

5
� : �− 7

2
� = �− 63

5
� · �− 2

7
� = �− 9

5
� · (−2) = + 18

5
 

 

ա) �− 7
8
� : �+ 5

16
� = �− 7

8
� · �+ 16

5
� = (−7) · �+ 2

5
� = −14

5
 

բ) �+ 4
15
� : �− 2

25
� = �+ 4

15
� · �−25

2
� = �+ 2

3
� · (−5) = −10

3
 

գ) �−4 3
4
� : �+1 9

10
� = �− 19

4
� : �+ 19

10
� = �− 19

4
� · �− 10

19
� = �− 1

2
� · (+5) = −5

2
 

դ)�−11 4
7
� : �+24 5

14
� = �− 81

7
� : �+ 341

14
� = �−81

7
� · �− 14

341
� = (−81) · �+ 2

341
� = −162

341
 

ե) �+17 3
8
� : �−16 7

16
� = �+ 139

8
� : �− 263

16
� = �+ 139

8
� · �− 16

263
� = (+139) · �− 2

263
� = −278

263
 

զ) �+113 2
5
� : �− 63

100
� = �+ 567

5
� : �− 63

100
� = �− 567

5
� · �− 100

63
� = (+567) · �−20

63
� = 11340

63
 

 

ա) �+8 1
5
� : �− 41

100
� < 0 

բ) �−
15
17
� : �−

9
11
� > 0 

գ) �−
25
29
� : �+

14
15
� < 0 

դ) 0 ∶ �−6
3

10
� = 0 

ե) 0 ∶ �+1
1
4
� = 0 

 



զ) (+5) ∶ �−
141
25

� < 0 

 

 


